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INSTRUCTIONS FOR CANDIDATES

Answer all questions.

All question carry equal marks.

Only one answer is lo be given for cach question.

If more than one answers are marked, it would be treated as
Wrong answer.

Each question has four alternative responses marked seriall y
as 1, 2, 3, 4. You have to darken only one circle or bubble
indicating the correct answer on the Answer Sheel using
BLUE BALL POINT PEN.

The OMR Answer Sheet is inside this Test Booklet. When
you are dirccted to open the Test Booklet, take out the
Answer Sheet and fill in the particulars carefully with blue
ball point pen only.

1/3 part of the mark(s) of each question will be deducted
for each wrong answer. (A wrong answer means an
incorrect answer or more than one answers for any question.
Leaving all the relevant circles or bubbles of any question
blank will not be considered as wrong answer,)

Mobile Phone or any other electronic gadget in the
examination hall is strictly prohibited. A candidate found
with any of such objectionable material with him/her will be
strictly dealt as per rules.

Please correctly fill your Roll Number in O.M.R. Sheet,
5 Marks can be deducted for filling wrong or incomplete
Roll Number.

If there is any sort of ambiguity/mistake either of printing or
factual nature then out of Hindi and English Version of the
question, the English Version will be treated as standard.

= Lt —

Warning : If a candidute is found copying if any unauthorized
material is found in histher possession, F.LR. would be lodged
against him/her in the Police Station and he/she would liable to
be prosecuted. Department may also debar him/her permanently
Srom all future examinations.
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Do not open this Test Booklet until you are asked to do so.
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Direction : (Q. No. 1 —4) Find the next
term in the given number series -

1. 8,7,16,5,32,3, 64,1.128,7

Ay : (e wEr 1 — 4) D TS 3 Aol
# ATl Ug S BTy |
8.7,16,5,32,3,64,1,128,?

(1 13 (1) 13
2) -l (2) -l
(3 -3 3 -3
4) 43 4 +3
2. 1,5,14,30,55,91,7? 1,5, 14, 30,55,91,7
(1) 130 (1) 130
(2) 140 (2) 140
(3) 150 (3) 150
(4) 151 4) 151
3. 2,3,10, 15,26, 35,1 2,3,10, 15,26, 35, ?
(1) 48 (1) 48
(2) 3l (2) 51
(3) 49 (3) 49
4) 50 4) 50
4. 6,20, 36,48,50,7 6, 20, 36, 48, 50, ?
(1) 36 () 36
(2) 40 (2) 40
(3) 46 (3) 46
4) 56 (4) 56

5. Which term comes next in the series?

YEB, WED, UHG, SKI. ?

. & g ool o s ug @an 87

YEB, WED, UHG, SKI, ?

(1) QOL (1) QOL
(2) QGL (2) QGL
(3) QNL (3) QNL
(4) TFI (4) TFI

6. The term next in the series is —

AH, DL, GP,JT.?

syoff % eFTel ue T 8
AH, DL, GP, IT, ?

(H MY (1) MY
(2) MX (2) MX
(3) NY (3) NY
o R 4) NX
| C.?/ INDIRESU indiresult.in whatsapp - 9352018749
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10.

11.

&/

Direction: (Q.No. 7 to 9) There are two
terms after the sign :: which have the
same relationship as given before it, find
the missing term.

Mirror : Reflection :: Water :

()
(2)
(3) Refraction

(4) Liquid

Current : Ampere : : Resistance :
(1) Volt

(2) Watt

(3) Orested

(4) Ohm

Paper : Pulp : : Linen : ;

(1) Flax

(2) Latex

(3)
“4)

Diffraction

Interference

Cane

Leather

If TRIANGLE is coded as SSHBMHKF,
then SQUARE will be coded as -

(1) RRTBQF

(2) TPVBQF

(3) PRVBSD

(4) RRVBSF

Arun and Mayank are brothers. Soniya and

Anika are sisters. Arun’s son is Anika’s
brother. How is Mayank related to Soniya?
(1)
(2) Brother

(3) Grand Father
(4) Uncle

INDIRESULTE
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11.
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fder @7 9 9)- Fad : : & a¢ 7 T®
&2 1 2, R W qf & uat & o
& 8, g Ug B S B |

U WA Tl
(1) fagda

(2) @fa@Ror

(3)  uga

(4) =a

ENT - Qﬂﬂlﬁ R v 1 T b o
(1) drce

(2) dfe

(3) 3IRES

(4)

(3) da
4)
gf¢ TRIANGLE &1 % %9 SSHBMHKF
€, @ SQUARE T &e &Nl —

(1) RRTBQF

(2) TPVBQF

(3) PRVBSD

(4) RRVBSF

B T4 HAFH WG 2| AT qen e
98 B AWV BT UF BT BT 9} )
6 P QIFTT O Haer & —

(1) foar

2) W

(3) =T

(4) =rEn
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12.

13.
14.

15.

@

Which of the following Venn diagrams
correctly represents Rectangles, Triangles

and Polygon?
(1) @ 0
@)

(3) @

@) QD

Direction (Q. No. 13 to 15) Refer to
following Venn diagram -

English

Mathematics Science

Hindi
The number of students who took any three
subjects are -
(1) 90
(2) 70
(3) 24
4 14
The total number of students who took
mathematics, are -
(1) 90
2) 82
3 77
4 71
Which subject is taken by the maximum
number of students?
(1)
(2)
(3)
“4)

INDIRESULTH
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English
Science
Hindi
Mathematics

12.

13.

14.

(%) INDIRESULTE

= ¥ 9§ el Waﬂﬂﬁ,ﬁﬂﬁ;%”"“

qEl B GE BT § FEiiG $Rel € -

(1) GD 0
@)

@ @D

R @ & 13 @ 15) e I IRE W

IHE -
(1) 90
2) 70
(3) 24
“4) 14
3

(1) 90
(2) 82
(3) 77
@) 71
ar Ry ofdeie fenfdar grr feran
T 87
(1) Sush
(2) f=m
3) f&=d
(4) TIfor
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16.
17.

18.

19.

20.

02 =

In a row of boys Mahesh is fifteenth from
the left and Ramesh is fourth from the right.
There are three boys between Mahesh and
Ramesh. Rahul is just left of Mahesh. What
is Rahul’s position from the right?
(I) 91'|1 (2) lOlh
3 " @) 12"

From a busstand buses leave every thirty
minutes. A passenger is told by the enquiry
that the bus had already left ten minutes ago
and the next bus will leave at 8:40 am. The
time of enquiry of the passenger is -

(1) 8:10 am. (2)  8:20 am.

(3) 8:25am. (4)  8:30 am.

A group of 1200 persons consisting of
captains and soldiers is travelling in a train.
For every 15 soldiers there is one captain.
The number of captains in the group is -

(1) 385 (2) 80

3) 75 4) 72

In a competitive examination, students score
3 marks for each correct answer and lose |
mark for every wrong answer. If one student
answer all the 100 questions and score 164
marks, the number of questions attempted
wrongly, is -

() 32 (2) 34

(3) 36 4) o4

Four different positions of a dice are given

below —

POPY

The number on the opposite face of 3 is
() 6 2) 4
3 2 4 1

INDIRESULTE
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SISdl B UH Uik F 4R R ¥ yvmgdl
Y UF SR AR [ e e 2wy g
WY B A I ASD & | g WY B U
4 SR 2| g B SR A PR
Rerfty &7

(1) 9d (2) 109t

(3) 119t 4) 129

U 99 WIS ¥ 99 Ueds 30 e ¥ A
Bl & | 8IS §RT U6 GEIh] @l aam
ST € f6 a9 10 fme ud o 9@ @ ud
3Tell ¥ UTeE: 8:40 TR WG| gAY gy

JodTe B G 2 —
(1) wra: 810 (2) Y 8:20
(3) Wrd: 8:25 (4) 9 8:30

ded g Afel & 1200 @l w1 U
W o9 H AT I V& B | TE udd 15
WPl R 1F b B 39 GYE § ded
@Y T B —

(1) 85 (2) &0

3) 75 @4 72

v yioarlt ofenr § el v wd
TR P folU 3 3P UG e & d URAD
T TR @ fow 1 3 w@ar 2] At
faeneft W 100 ySH & SR AT & UT 164
3 BT TR UTE BT & | 99D ERT Tord

SART UeHT @ deE & —
(ry 32 (2) 34
(3) 36 4) 64

U U B AR A= st A9 &

PORE

3 9 fAudia ®old W i 2
() 6 (2) 4
3) 2 4) 1
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21. Arrange the given words is alphabetical ~ 21. foy Ty |l B # aaRer HIfoy
order and choose the one that comes at the g SHP iﬁm ST AR I ORI |
third place. Heredity, Hesitate, Hedge, Herald
Heredity, Hesitate, Hedge, Herald (1) Heredity
(1) Heredity : (2) Hesitate

5 p
(2) Hesitate (3) Hedge
(3) Hedge

(4) Herald

(4) Herald

number 423158796 will remain same when
the digits are arranged in ascending order?
(1) One

(2) Two
(3) Three
(4) Four

In a city 30% of adults are illiterate while
80% of the children are literate. If the ratio
of the adult to that of the children is 3:4,
then what percentage of the population is
literate?

() 24.29%

2) T1.9%

3) 75.71%

(4) 81.02%

If + means X, X means —, + means + and —

means =+, then the value of (225 -25 + 11 +

5+4x5)-Tis-
(1y 5

2 9

(3) 104

4) 52

The average of u, v, w, X, y, z is 10. What is
the average of u+10, v+20, w+30, x+40,
y+50, z+607?

(1y 30

22. The position of how many digits in the 22, 9 W& 423158796 B fBT P ARIEN B

¥ oo ¥ oA oy s B Refd
sraRafda e 87

(1) T&

2)

3) M

4) TR

TP UER F Al H W 30% FReR § odfd
Tedl  80% WER | Al @Rdl Ud Fedl
H AU 34 T Al Smwedr & fha
gfererd weR 8?

(1) 24.29%

(2) 71.9%

(3) 75.71%

4) 81.02%

afe + q afwmE X, X 9 afum -, + |
Ao + qr — ¥ AU < §, 1 (225 —
25+ 11 + 5+ 4 X 5) — 7 & A4 &—

(3
@ 9
(3) 104
4) 52

afE u, v, w, X, y, z BT e 10 B, @ u+10,
V420, w30, x+40, y+50, z+60 T AT a1
87

(1) 30

(2) 35 2) 35
. (3) 40 (3) 40
(4) 45 4) 45

@

INDIRESULT
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26.

27.

28.

29.

30.

@

The median of the following distribution is
14.4 and the total frequency is 20:

Class interval | Frequency
0-6 -+
6-12 X
12-18 5
18 -24 y
24-30 I

What is the relation between x and y?
(1} 25=3y (2) 3x=2y
3) x=y (4) 2x=y

Out of 250 observations, the first 100
observations have mean 5 and the mean of
the remaining 150 observations is 2—:
What is the mean of the whole group of
observations?

(1) 6 (2) -7

(3) 8 4 9

The arithmetic mean of 10 numbers was
computed as 7.6. It was later discovered that
a number 8 was wrongly read as 3 during
the computation. What should be the correct
mean?

() 7.1 (2) 7.6

(3) 8.1 (4) 8.6

Which one of the following relations for the
numbers 10, 7, 8, 5, 6, 8, 5, 8, 6 is correct?
(1) Mean = Median

(2) Mean = Mode
(3)
4)

The mean weight of 150 students in a class
is 60 kg. The mean weight of boys is 70 kg
and that of girls is 55 kg. What is the
number of boys in the class?
() 50 (2)
3) 75 4)

INDIRESULTH

YOUR SUCCESS PARTHMER

Mean > Median

Mean > Mode

60
100

26.

27.

28.

29.

30.

7 of 32
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f=forRaa ques & wiftasdr 144 2 @ik
HeT ARG 20 &

I T IRFERT
0-6 4
6-12 X
1218 5
18 —24 y
24 - 30 1

x AR y & I a7 grawer 27
(1) 2x=3y (2)
(3) x=y 4) 2x=y

250 UeToli H W, Ugel 100 Ueiolf T HEA 5

aﬁ?s‘rﬁrw“woﬁ&{qﬁwmw%s-%‘l@

UeToT GHE BT HIEY T 27
() 6 2) 7

3x=2y

3 8 “4) 9

10 HEIRIT BT UK Ard 7.6 Gifoq fobar
1| 98 96 H uar o 6 us G s,
TG A 3 U ol e off| wWE "my

BIFT ARU?

(1 7.1 2) 7.6

(3) 8.1 4) 8.6

A=l 10, 7, 8, 5, 6, 8, 5, 8 6 B forU
fr=faRad & 9 &9 |1 ue a9gr 27

(1) A = AifegaT

(2) =g = 9gcid

(3) ARG > AT

(4) WrET > AP

Uh Herl H 150 fAenfiat o1 wra R 60 ke
& | TSPl BT AR AR 70 kg  crsfeAt @
HET MR 55 kg €| WeM H AsHl Bl g
w7 87

(1y 50 (2) 60

(3) 75 4) 100
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31. The variance of 20 observations is 3. If each
observation is multiplied by 2, find the new
variance of the resulting observations.

() 20 (2) 4
3 25 4 50

32. A committee of two persons is selected
from two men and two women. What is the
probability that the committee will have one
man?

1 2
(1) e (2) 3
3 = @ <
2 3

33. One card is drawn from a well shuffled deck
of 52 cards. If each outcome is equally
likely, calculate the probability that the card
will be a diamond.

1 1
(1) n (2) 3
3 I
3) T 4) 3

34. A number consists of two digits. The sum of
the digits is 10. On reversing the digits of
the number, the number decreases by 36.
What is the product of the two digits?

(1) 21 (2) 24
(3) 16 4 9

35. If x - 2 is a factor of x* + kx*- 2x - 24, then
the value of k is-

(1) 6 (2) 5
(3) 1 4) -2

36. If one of the roots of quadratic equation
7x% - 50x + k = 0 is 7, then what is the value
of k?

(H 7 2) 1
. 2 @ =

¢

INDIRESULITE
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31.

32.

33.

34

35

36
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20 VeI BT UEROT 5 ¥ | A TP VeIl P
2 q o far AT @, A o e @
AT YEROT ST BTG |

(1) 20 (2) 4

(3) 25 4 50

B el g oA Rl & owE A WA
afedl @ ue Gy @1 Mo HRA B
nfoq afify § TH gou 81, S@l Widedr
T 87

(1) (2)

3)

qer ¢ 52 U @ UP Hel-Hifa Bl T
TS ¥ ¥ uF wen feren war 21 e
Tq Y 9T Wi s @iferg IfE uw e
PR |

“)

= e
W= Wl

(D (2)

Alw B
W= =

(3) (4)

<7 3f®T arell U AT B | &l @1 AT 10
2| ol B U9 § deo IR A& 36 Y
21 Wt ¥ | QT it BT YUAH @l 87
(1 21 (2) 24

3) 16 4 9

afe x* + kx’- 2x - 24 FT T UGS X - 2
g dl k & "E 2

(1) 6 2) 5

3 1 4) -2

g feema wHidRor 7xP- 50x + k=0 & Hell

¥ Ue gl 7 B, A1 k BT AE 441 &7
(1 7 2) 1

, 50 7
3 — 4y —
& 3 @ =
indiresult.in whatsapp - 9352018749
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37.

38.

(I) 6:15:20 2y §:5:3
(3) 6:5:4 4) 2:15:4
39. A sum of money becomes 3 times in 5 years
at simple interest. In how many years will
the same sum become 6 times at the same
rate of simple interest?
(1) 10 years (2) 12 years
(3) 12.5 years (4) 10.5 years
40. The LCM of two numbers is 90 times their
HCF. The sum of LCM and HCF is 1456. If
one of the numbers is 160, then what is the
other number?
(1) 120 (2) 136
(3) 144 (4) 184
41. 1fX 2600 is divided among three persons A,
B and C in the ratio i ; -]— —, how much
2 3 4’
does A get?
(1) 600 (2) T 800
(3) %1000 (4) 1200
" If 2 +E = and i -i~2 = 2—, where
Xy Xy Xy Xy
X # 0 and y # 0, then what is the value of
X+y?
(H 2 2y 3
(3) 4 4 38
43. A lawn 30 m long and 16 m wide is
surrounded by a path 2 m wide. What is the
area of the path?
(1) 200m? (2) 280 m’
* (3) 300m’ 4) 320m’

When an article is sold at 20% discount, the
selling price is ¥24. What will be the
selling price when the discount is 30%?

(1) %25 2) 23

(3) 21 (4) %20

The ratio of ages of A and B is 2 : 5 and the
ratio of ages of B and C is 3 : 4. What is the
ratio of ages of A, B and C?

(%) INDIRESULTE
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37.

38.

39,

40.

41.

42.

43.
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o9 fB 9% BT 20% o Be W = AT
g, d SueT kY qou T24 ¥ 30% &

B2 BM W S9HT Ay qou @1 8nm?
(1) %25 2) %23
(3) 21 4 20

A 3R B @I 1Y BT IR 2 : 5 & T B
3R C @V MY &T UK 3 : 42| A, B iR
C &I 1Y BT U a7 272

(1) 6:15:20 (2) 8:5:3

3) 6:5:4 4 2:15:4

5 981 H RN @G W B o NI 3 T
B RN 8| WRHRY @IS @ GHN e W

el g RIS fbert aut 4 6 T & sRef?
(1) 10 a9 (2) 12 99
(3) 125 a9 (4) 105 Y

<1 HErsil B LCM 9% HCF @1 90 71
21 LCM 3R HCF &I a7 1456 2| ufe
T AT 160 &, T GO AT 4T 87

(1) 120 (2) 136

(3) 144 (4) 184
ufé?zﬁooénaa:ﬁﬂa‘fﬁA,Bawcﬁ

; 3 ;a‘salgtrrﬁffﬁwﬁm%mw,

ar A BT fbdar yra 897
(1) T600 (2) 800
(3) 21000 4) T1200

7 =
afe 3+i:—9—aﬁ?i+2:’—], STel
X ¥y Xy X ¥y Xy

03IR y= 08, ol x +y &7 a7 A &7

(1 2 2) 3

(3) 4 “4) 8

30 m SFTS TAT 16 m ArSE BT UFH T
2 m Hs W W PR BAM B AR @
8B T 27

(1) 200m? (2) 280m°

(3) 300 m> 4) 320m?
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44.

45.

46.

47.

48.

49.

v
MQ_OINDIRESULTE

A hollow sphere of internal and external
diameters 4cm and Scm respectively is
melted into a solid cone of base diameter
8cm. What is the height of the cone?
(1) 12cm (2) ldcm
(3) 17cm (4) 18cm

A circle circumscribes a rectangle with
sides 16cm and 12cm. What is the area of
the circle?

(1) 48mem’ 2) 50mem’

3) 100 7wem’ @) 200mem’
What is the area of an equilateral triangle
having altitude equal to 23 cm?

(1) +Bem’ (2) 2J3em’

(3) 3W3em’ @) 43em’

The length of shadow of a tree is 16m when
the angle of elevation of the sun is 60° from
the end of shadow. What is the height of the
tree?

(1) 8m (2) 16m
(3) 16J3m (4) %m

If sin 30 = cos (O - 2°), where 36 and

(8 - 2°) are acute angles, what is the value

of 67

(ry 22° ) 23

(3) 24° (4) 25°

Which of the following statement 1is

appropriate about the nature of the

development of the child?

(1) All children have similar rates of
development.

(2) Different aspects of development are
isolated.

(3) Development proceeds from specific
to general.

(4) Development is product of
interaction ~ of  hereditary  and
environment.

YOUR SUCCESS PARTHNER
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49.
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4cm3ﬂ'\'8cm$mt'lﬂ?lﬁ3ﬁ’\'m€ﬁ
Sl arel Uh digd Tl B Te@) em
T & SR aTell U ord Fdg R STl
2| vig & HaE FAT 87

(1) 12cm (2) ldcm

(3) 17cm (4) 18cm

16cm 3R 12cm Wﬁﬂﬁww?ﬁ
IR TF ga @i T B g9 al EAnd
a7 87

(1) 48mem’ () 50mem’

(3) 100 ®em’ (4) 200 mem’
23em Fag & A wHag e &
el al &7 |

(1) V3 em? @) 243cem?

3) 3J3em? @) 43cm’
frdfl e @ BRI B aWRE 16m B S
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Ife 30 = cos (O - 2°), W&l 36 3R (0 - 2°)
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qoF @ oM B Ush & aE |
P HAT SUIR &7

(1) @il qe@ & fdem e W
(fer) & g 2|

@) e & A= uer gud-yre B
2|

@) fem e & 9= @ 3R
IR B 2 |

@) fem sraiE &R awmERer &
ara:frar @1 g B |
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50. Motivation is not a process, which-

(1) Energizes and sustains the
behaviour.

(2) Directs and regulates the
behaviour.

(3) Is directly observable behaviour.

(4) Is selective and goal directed
behaviour.

51. Among all the mental defence/adjustment
mechanisms which of the following is the
most advanced, highly developed and
constructive mechanism?

(1)  Sublimation

(2)  Projection

(3) Rationalization

(4) Reaction formation

52. Intelligence tests are not used for-

(1)  Measuring general learning
readiness

(2) Identifying mental health

(3)  Study of mental growth

(4)  Educational and Vocational guidance

53. Which of the following method is an
obstacle to improve the classroom climate
for group dynamics?

(I)  Arrangement of free discussion for the
group

(2) Effective communication in’
classroom

(3) Discourage the feeling of
cohesiveness of students.

(4)  Impartial behaviour of the teacher

54.  Which of the following ability or trait is not
involved in creativity?
(1)  Flexibility
(2)  Originality
(3) Elaboration

... (4) Correct answering

A

02 &
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(1) SERIBIT /9
(2) wEgor

(3) alfre—sem
@) ufafsrar—fmior

i oemvil 1 SuHT 7 febar e 8-

(1) | SIEETH TeReT 599 & forg
(2) AFRE WRey ggdaE @ forg
@) Wi gf & sere @ R
(4) F iR awRie FEvH & foru

feifeifaa & A il fafr W wferfierer

& foru et & araraver YarR H qwer 27

(1) WgE 9 g+ uReal #1 eraen

(2) e H guTdl Ry

(3) dTeldl B AISThd /TREdT W
Bl gARATRd HYAT

(4) SEAYH FT e AR

AoHerear # o fEfoRad & @ @i

A1 ferar eerer aftaferg T 82
(1) |-/ Sriermas

(2) wiferar

(3) fIRaRERor

(4) W W &M
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55.

56.

57.

58.

02

Which of the following statement depicts
the most appropriate definition of the
learning disability?

() It is intrinsic and due 1o
dysfunction ~ of Central  Nervous
System.

(2) It is intrinsic and due to mental
retardation.

(3) It is extrinsic and due to visual and

hearing handicaps.
4 It is and
environmental disadvantage.
Aptitude is defined as-

(1)

extrinsic due to

An ability of individual to solve
problems related to different area.

An ability which
learned or acquired in a particular
field.

An individual’s capacity to acquire

individual has

(2)

(3)
some specific knowledge and skill.
(4) An ability of individual to perform in

a specific condition.
Which of the following audio-visual aid is

most effective according to the ‘cone’

proposed by Edger Dale?

(1) Experiment
(2) Diagram

(3) Coloured slide
(4) Motion picture

Project method of teaching is not based on
which of the following principles?

(1)

Principle of purposiveness

(2) Principle of activity and reality
(3) Principle of social development
(4) Principle of organised and regular

teaching

Ci’.//)mnlnssuua
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. frafafeg # @ @ B aiferTH
i (@) @ o @ e
IPE OYE W U 87
(1) u arRe § 3R B af=dl T

@ gferar 81

2) uE AR® B AR ARG F=dl D
PRI T |
3) uE 9@ & ok gheaan R sE0
FIfT & BRI B |
@) uE @ & olR areReid wfEs
gRRufY & aoE ¥ & |
56. STfETHaT T TRWIT E-
(1) =fm @ RS a9 RALCIESR]
RIS B AT B G |
(2) if e o R e H e T
a7 fofa @1 i AT |
(3) ify @1 Tl faftre s ok Blerd
I afofa &= @l & |
@) i g e e oRRefd
e &R ®1 A |
57. TEIR-SA ENT UG TE b AR

58.

frfaiea & ¥ Bl g5 ERD
arfT e AIfdrs Tl 87

(1) 93

Q) =

(3) ¥ wAES

(4) e

Rieor & wiaorn fafy frefafea & @

B Rigra ) amRa 81 87

(1) SeaqRed &1 Rigrd

@) far iR arafawar &1 Rigrd

(3)  wriee fawr o1 g

4) waRem ok frafw Rewr @
R
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59. Which of the following sequence is correct

60.

61.

02

about the system approach of education?

(i)  Define objectives and evaluating
previous knowledge of students.
(i) Synthesizing and executing  of

instructional systems.
(iii) Analysing outcomes and modifying
the system.
(iv) Selecting strategies and teaching aids
as per the needs.
(1) (1), (i), (i) and (iv)
(2) (i), (iv), (i) and (iii)
(3) (i), (iii), (iv) and (ii)
4) (i), (i), (iv) and (iii)
“Our senses are the gateways to acquire
knowledge”. According to this statement
and the psychology of using teaching aids
which the
contribute to maximum learning?
()
(2)  Smell and sight
(3) Touch and hearing
4)

Which of the following phase is not related

one of following  option

Taste and smell

Hearing and taste

to the Inquiry Training Model of teaching?
(1)

Confrontation with the problem

(2) Data gathering, verification and
. experimentation
(3)  Organising, rule formulating and

explanation

o

L

Practice recalling the material

C{’OINDIRESULTE
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(1) (), (i), (iii) 3R (iv)

(2) (), (iv), (i) 3R (i)

(3) (), (i), (iv) 3R (i)

@) @), (i), (iv) 3R (i)
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(ii)

(ii)
(iv)
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(2) O SR

(3) W FAT R G

(4) T SR T
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27

(1) 9T BT AT BT ,

(2) T /AGS BT THAPRY, G
3R gARfIReT BxAT

(3) RPRYT, FRATIEHIT 3R TqeiepRor
AT

[O9geERg] TIROT BT AART BT
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62.

68

64.

65.

66.

%

02

Which of the following option facilitates the
effective communication in the class?

(i)  Clarity of concept

(i) Complicated language

(ii1)
(iv)
(v)

(1)

(2)
(3)
(4)

Democratic approach
Appropriate gestures
Overloaded communication

(1), (i) and (iv)
(ii), (iii) and (v)
(iii), (iv) and (V)
(iv), (v) and (ii)

Which of the following is not related Lo the

fundamental principles of Programmed
Instruction?

(1)
(2)
(3)
4

Which of the following options correctly

Principles of small steps

Principle of teacher evaluation
Principle of active responding
Principle of immediate reinforcement

explains the ‘unit’ of teaching-learning?
(1)

A collection of topics on a random
basis.

(2) A collection of topics based on
difficulty level.
(3) A collection of topics based on

descending order.
(4) A collection of topics based on some
conceptual similarities.
Democratic principle of school management
1s-

(1)  Authoritarian decision making
(2) Working individually

(3)  Sharing responsibility

(4) Decision rigitity

Which of the following information about
students is not required for maintenance of
scholar registers in the school?

(1) Date of birth

(2) Socio-economic status
(3) Date of admission

(4) Father’s name

INDIRESULTE
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() R WEd

(i) wifea A

(iii) eTar=d SUNTH

(iv) SUgdd BIId

(v) srferiRe |wIgoT

() (i), (iii) 3R (iv)

() (i), (iii) 3R (v)

(3) (i), (iv) 3R (v)

@) (iv), (v) 3R (i)
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fRreror sftr @) geE B FrEfiad § A
PRI RAFey TE) aRE W W HRAl 87

(1) AGRSE MR W YHR BT Heher
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Hebold
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67. Which of the following are appropriate

guiding principles for management and

organisation of co-curricular activities?

() Careful selection

(i) Motivation

(iii) Interference

(iv) Over emphasis

(v) Code of rules

(1) (i), (i) and (v)

(2) (i), (iii) and (iv)

(3) _ (iii), (iv) and (v)

(4) (i), (iii) and (iv)

Which of the following principles is least

important for time table construction of the

school?

(1) Relative importance and difficulty of
subject

(2) Mechanical and rigid

(3) Psychological needs and nature of
subject

(4) Variety and novelty

Which of the following is not included in

comprehensive evaluation of the students?

(1) Scholastic areas of students

(2) Personal and social qualities of
students

(3) Attitude, interest and values of
students

(4) Intelligence Quotient

Which of the following functions is not

related to information and communication

technology for education?

(1) Developing interest of the learner to
know.

(2) To evaluate the level of
comprehension of the learner.

(3) To facilitate teaching and learning
process,

(4) To understand the affective domain

e of the learner.
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71.

72,

73.

74.

@

02 &

Action research is focused on- 71.
(1) Immediate application

(2) Development of theory

(3) General application

(4)  Solution of problem in general setting
According to World Declaration —on 72

Education for All (1990), which of the

following basic learning needs of the person

should not meet for the following purpose?

(1) To develop his/her full capacities

(2) To make information decision

(3) To establish in a vocation

(4) To improve the quality of his/her life

Which of the following departments is not ~ 73.
functioning in ‘District Institute  of

Education and Training’?
(1
(2)
3)
4)
‘Department of Training and Extension™ of
SIERT functions for-

(1)

Educational Technology
Women Education
Pre-Service Teacher Education

Planning and Management

In-service Teacher Education

(i) Curriculum Development

(iii) Pre-service Teacher Education

(iv) Extension Education

(v) Instructional Material and Text-
Books.

(1) (i), (i) and (v)

(2) (i), (i) and (iv)

(3) (i), (iii) and (iv)

(4) (i), (iv) and (v)
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(3) <argd srams e
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(1) (), (i) and (v)
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75. Who is the president of “Rajasthan State 75, SISIRIM oG UIGIYEDH HUSC B Ipee
Text Book Board™? a2
(1) Director of Primary Education '

(1) e RBern o1 Aews
(2) gt e o feww

(4) Education Minister, Government of (3) fRwen wfea
Rajasthan (4) R 7=, ISR AR

(2) Director of Secondary Education

(3) Education Secretary

76. ‘Rajasthan State Open School’ was 76, SToel o gonl feney foa sfefzm
: : 5
established under which act? (qae) @ gt v far T om?

(1) Rajasthan Society Act 1985
: . I (1) rorer |t sifdfam, 1085
(2) Rajasthan  Institute  Registration

Act, 1958 @) SO W S SR,
(3) Rajasthan Government Education Act, 1958
1980 (3) Yo WRBR e e, 1980
(4) Rajasthan State Education Act, 1968 @) roRe Xrod R afefTEE, 1968
77. What is given in ‘Gargi Puraskar’ to the  77. W& THd @ a1 TLET U B dTel
students passing tenth (10™) Board faenfRiat &7 Al RESR' # @ar far S
examination? - 27
() A total sum of ¥T6000 and a (1) FA 6000 (g; EOIR) TR N TP
certificate THIOT T
2) A ‘total sum of T10,000 and a (2) @ 10,000 (a9 =9R) TR AR TP
certificate SEIT G
3) A lt(?tal sum of ¥25000 and a 3) B 25000 (T &9R) WU AR
certificate wr -
(4) A total sum of ¥5000 and a " i il ahe
certificate @ e 5000 (= ) L
T U
78. Which of the following competition is 78, <NIoRee #eafie REm @16, R gRI
organised by ‘Rajasthan Board of seagel @ fou FEfaRea # @ @F
Secondary Education, Ajmer’ for teachers? gferafireT &7 e far ST 87
(2) Games 2) @
() Quiz (3) TR
44) Teaching @ 3 (Rreron)
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79
80.

81.

82,

83.

&

In the definition given in the Rajasthan  79.

Service Rules, the term “Constitution”

means - -

(I) Rules regarding service of the
Government of Rajasthan

(2) Common Law

(3) Orders of the Central Government

(4) Constitution of India

Rajasthan Service Rules were made by
exercising the powers given by the Indian
Constitution in -

(1) Article 370
(2) Article 226
(3) Proviso to Article 309
(4) Proviso to Article 226

A departmental enquiry is pending under

Rule 16 of C.C.A. On the date of retirement,

Government servant shall be sanctioned -

(1) 75% provisional gratuity

(2)  75% provisional pension

(3)  100% provisional gratuity

(4)  100% provisional pension

Which is the major budget head of  82.
expenditure (Revenue Account) for General
education?

(1) 2202

(2) 2053

(3) 2204

(4) 2052

Which is the nodal department for the  §3.

preparation of state budget?

(1) Planning department
(2) Finance department
(3) Revenue department
(4)  Accountant General

INDIRESULTE
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ORI it Sar fram F & 7 gfeer §
W e ¥ AW & —

(I) ISR WHR & Har waelt fgm
(2) M A (@ )

(3) &= WHR B ST

(4) WRCTE e

URCT SfuE @ gRT yew AfeR R
SN &Re el 9d e 99y Ty —
(1) =g 370

(2) ITET 226

(3) ST 309 B WP

(4) 3T 226 B WD

a1 Fgla &1 femie @1 Wi g 16 @
FHAN Bl epa B S —

(1)  75% SF<TaTei Iogel

(2)  75% SE@Iel U9

(3)  100% SFi-ebTeA UYLl

(4)  100% 3THIeN Yo

o REr @1 @ (oRG ofkEn) @l
4= qure e B 22

(1) 2202

(2) 2053

(3) 2204

(4) 2052

W B gl dIR HA & Iy Ared
fammT w87

(1) 3w fammr

(2) o= femmr

(3) o famT

(4) WEIIETHR
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84. As per the Right to Education Act 2009

private and specified category school shall
admit the following % children belonging to

weaker section and disadvantaged group in

class I -
(1) 20% (2) 25%
3) 30% 4 40%

85. To which age group the free education will

be provided as per RTE Act 20097

(1) 7to 14 years (2) 0Oto 14 years

(3) 3to5 years (4) 5to 6 years
86. Elementary education covers education

1207 11 (o) 111 [RA——" to class...........

(1) Pre primary (2) Classlto5

(3) Class6to8 (4) Class1to8

87. Child Care Leave for mothers has been
announced for those mothers who have
children upto the maximum age of -

(1) 12 years
(2) 14 years
(3) 16 years
(4) 18 years

88. On transfer, 15 days joining time will be
allowed if the distance between the old and
new headquarter is -

(1) Upto 500 kilometer
(2) Upto 900 kilometer
(3) Upto 1000 kilometer
s (4) More than 2000 kilometer

g"{//) INDIRESULTE

YOUR SUCCESS PARTHNER
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84. frged o aifard arer fRem &1 fEER
(REE) S aT 2000 & dea ol Ud
fafdre 2of) smemell § fAifea wfoem 922

el we # ufdse B =iy —
(1) 20% () 25%
(3) 30% 4)  40%

85. RIS, afifa 2000 # o amg @l &
qedl B ged R Iuder FRg Sg?

(1) 731494 (2 0149
(3) 3¥ 5Ty (4) 596y

86. URMAD R § B .o P
............ qe &1 e afEfe ¢ |
(1) yd urafde 2) PeT1Y5
(3) WEm6 W 8 (4) HT1 9 8

87. @Rl @ fo aey WA SEBIE B
HiSonm 99 AEl bf 9F © e @l @
fferepam AR —

(1) 12a9%
(2) 14 a9 %
(3) 16ay®
(4) 18 dY &

88. RIMMRU W [ iR T JeATed & Ael
fFrifee o 8 W 15 T &1 Bl yE
HTel IR B —

(1) 500 faFeirey @
(2) 900 frarieR a®
(3) 1000 fdHalrier AP

(4) 2000 fhalmicy d®
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89.

90.

91.

92.

Bills for Travelling allowance other than
fixed or permanent allowance shall be
prepared and presented in system Generated
New form. This order is effective from the
following date -
(1) 01/01/2016
(2) 01/1012017
(3) 01/01/2017
4) 01/01/2018
The

service book/service Roll can be changed

date of birth, once entered in the

with period permission of -
(1) Head of office

(2) Head of Department
3) Controlling officer

(4) Finance Department

Daily allowance will be admissible as
follows for 12 hours absence from Head
quarter on duty as per Travelling Allowance
Rule -

(1) Zero

(2) 50 Percent

(3) 100 Percent

(4) 200 Percent

The

privilege leave of 140 days to a govt.

competent authority to sanction
servant from subordinate service is -

(1) Head of office

(2) Deputy Head of Department

(3)  Joint Head of Departement

#(4) Head/Additional Head of Department
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a@ﬁﬂwﬁmwmﬁiﬁraﬁmoﬁww
SUINIT S Wiigd a7 & fyv e
T & —

(1) orafem sweasr

(2) Y fPummee

() Hgw e

4 e / sfiRe fvmmeas
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93.

94.

95.

96.

97.

’
(%) INDIRESULTE
02

‘Pension Disbursing Authority’ does not
mean one of the following -

(1) Treasury including sub-treasury

(2)  Pension Payment Officer

(3) Branch of a Nationalised Bank

(4) Assistant Director G.P.F.

The quantum of Pension / Family pension

shall be increased to the pensioners/ family

pensioners on attaining the age of 95 years

as follows -

(1) 20% of basic pension / Family
pensions

(2) 30% of basic pension / Family
pension

(3) 40% of basic pension / Family
pension

(4) 50% of basic pension / Family
pension

The age of superannuation in respect of

MBBS degree holder officers of Rajasthan

Medical & Health Service is -

(1) 65 years (2)

(3) 60 years (4)

62 years
58 years

A Govt. servant, on surrender of privilege
leave not exceeding the following days,
once in a financial year, commening from
first of April, be granted leave encashment
equal to the period of leaves surrendered -
(1) 15days (2) 30 days

(3) 45 days (4) 60 days

No Government servant shall be granted
leave of any kind for a continuous period
exceeding -

(1) 2 years (2)
3) 4 years 4)

3 years

5 years

YOUR SUCCESS PARTHNER
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95.

96.

97.
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#)NoresuLTE

Yo e widersy @ e s

Tl B~

() ®EMR oaH SusleR 4l
aftafera =

(2) U T SHEEmn

(3) &l Ifiga de @l e

(4) WeEd Fowd S 4 Uh

Yo /qiRaiRe Yo @1 95 9§ @l AT

U B UR S8 W e / gk g

#§ e uyeRr oifka sfaRad @y e

SR —

(1) we Ue / IRaR® G2+ BT 20%
(2) W& U/ WRARS Y BT 30%
(3) el U/ WRaIR® Yo BT 40%
@) W& UeHE /IRaTRG G2 BT 50%

o fafdear vd waRe |ar & GAALAL
g, ffure afefRdl & Hag F

ey @ oMy & —
(1) 65 a4 (2) 62
(3) 60 a¥ (4) 58 @y

TH. AW HHEN), 1 e 9 URW UH
i af 4§ afdan F=ifea &l @
IR @@ i s SHb gadl o
Fehg A YT B Ghell & —

(1) 15 fead (2) 30 fega

(3) 45 feaw (4) 60 feay

Bl ff WReR HHT @ frEifea @

e B PR wraEy @ forg fewr A

YR T AaHTI HoR Al A S —

() 2@y (2) 399

(3) 4 a9 (4 sad
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98.

99,

100.

101,

102,

&

02 &

In RSR (Rajasthan Service Rules) the next
date of increment after fixation of pay on
promotion shall be -

(1) st July of the year

(2) One year after the date of
promotion

(3) lstJanuary of the next year

(4) Six months after the date of
promotion

If a Government servant who is detained in

the

following number of hours shall be deemed

custody for a period exceeding

to have been suspended by an order of the
competent authority -

() (2) 48 hours

(3) (4) 96 hours
Procedure for imposing major penalties is
specified under the following rule of The
Rajasthan Civil Service (Classification,
Control and Appeal) (C.C.A.) Rules, 1958 -
(1) Rule 14 (2) Rulel15

(3) Rulel6 (4) Rule 17

The Rajasthan Civil Services (Classification
Control and Appeal) Rules 1958 shall apply
to -

()

24 hours

72 hours

Persons in casual employment

(2) Judges of the High Court of
Rajasthan

(3) Members of All India Services

(4) Members of Rajasthan Accounts

Service
A child who is 10 years old and has never
gone to school before is eligible to be

admitted in which class?

(1) One

(2) Three

(3 Four

(4) Five
¢)INDIRESULTH

98.

99,

100.

101.

102.
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Qmp,lﬁg,w

IR war eE § e ) ogaa —

frgem & geEg 99 afg @ enTel an
faeifea 2l —

(1) a¥ & 1 g ari

2) verHfd fafYr & e a9 ggarq sF
(3) T 9¥ BT 1 SR BT

(4) vl foeft @ 6 wE g gl
afy e wsg wEEn) fEifed sEfr |

e g o fevaa & w@r T 8 oal
9 R B fafy @ wem wiReN @

ey ¥ fraffad gam |\ SR —
(1) 24 < (2) 48 T<
3) 72 6T 4) 96 T

orer Rifaer Jar (@ffexer, P ud
aiter) fm, 1958 @ fAifda fgw % gea
qug oq & forw ufbar fRuiRa @1 78 & —
(1) a9 14 2) 915
(3) T 16 4) g7

fererifere or oo Rifder war (@ e,
=T vd ordier) R 1958 SN BT & —

(1) ¢ aafd 1 arsRee Fae &

(2) ISR $Td 1T & RIS
(3) 3Raer YR WawRil & e
(4) RIS AT T © ded

T 10 TY I Y BT aeled il G4 H Dl
el 81 T B fhw wem ¥ gfafe & am
27
(1)
(2)
(3)

(4) Y
indiresult.in whatsapp - 9352018749

TP
<
UR

RTHN

ER



indiresult.in whatsapp - 9352018749

103.

104.

105.

106.

107.

A

02

Who is the runner — up of Wimbledon
Gentlemen'’s singles?

(1) Novak Djokovic

(2) Pete Sampras

(3) Roger Federer

(4) Kevin Anderson

Who is the present Secretary General of
United Nations Organization?

(1
2)
3)
(4)

Antonio Guterres
Boutros Ghali
Ban Ki - moon

Kofi Annan

Who is the author of the book ‘Exam
Warriors’?

(1) Narendra Modi

(2) Nirad C. Chaudhary

(3) Prof. Yashpal

(4) Swami Vivekanand

Identity the book and the author, to whom
the special Golden Man Booker Award was
given in July 2018.

(1) The English August — Michael
Ondaatje

The English Patient — Michael
Ondaatje

Lincoln in the Bardo — George

(2)

(3)
Saunders

(4) Moon Tiger — Penelope Lively

Where was 10" BRICS -

Summit
Organized?

(1)
(2)
(3)

-
@)

Benaulim
St. Petersberg
Johannesburg

Shanghai

YOUR SUCCESS PARTHNER
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105.
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107.
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fargeret (G99 UHd) — 2018 & SU—faoiaT
14

(1) <ad Sreifad

() tre Jdus

(3) VR BER

(4) BT Toe=H

g W WY (UN.O) & gadH e

P 87

(1) verfwEr R
(2) goRw el

(3) 9 B — T
(4) B! AFAF

‘g §iRaY (Exam Warriors)” J&i® &
qGPH DI 87

(1) % Akl

(2) R 3. AN

(3) I AT

4) @ faem=

QI T oEF Bl fufea oy, o

Ses — 2018 # fRY Tiesd # gaw
JEIeR fear mar -

(1)
2)
(3)
)

g Sfierer iR — Algdd 3Ner

T gferer Wefe — Agdd el

foie o1 © arsl — Wil died

T TR — el drgae

109} fi@a (BRICS) wfie @&l e @l
Tg?
(1
(2)
€)
(4)

aifer
e dredqt
SIEGER
KIS
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110.

111,

112.

113.

02

' 3)

C://OINDIRESULTE

Who is the Director — General of National
Testing Agency?

(1) D.P.Singh

(2)  Pramod Kumar Das

(3) Amitabh Kant

(4) Vinit Joshi

Which of the following is not a Small
Finance Bank?

(1) Ujjivan Bank

(2) Jan Laxmi Bank

(3) Equitas Bank

(4) Baroda Gramin Bank

Mission ‘Indradhanush’ is related to —
(1) Housing

(2) Poverty iradication

(3) Farmers’ Insurance

(4) Vaccination

When was ‘Bharat Ratna’ conferred upon
Late Atal Bihari Vajpayee?
(1) 2015 (2)
(3) 2016 4)

2013
2017
Who is the Brand Ambassador for Road

Safety Campaigns?
(1) Mary kom

(2) Akshay Kumar
(3) Aamir Khan
(4) Virat Kohli
Sindhu Darshan Festival is held at —
(1) Leh (2)
Manikarnika (4)

Shilong

Srinagar

YOUR SUCCESS PARTHMNER
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108.

109.

110.

111.

112.

113.

JuFd SRET woiel (National Testing
Agency) & SRRIEX — TR B 87

(1) A Rig

(2) WHIE AR TN

(3) iffar sia

(4) foefra <ieh

= 4 4 @ @y T d6  (Small
Finance Bank) 98 87

(1) Soollad da

(2) e 9%

(3) SN J&

(4) 9SreT YT §

e gseg e § 9 fees ger 2°

(1) 3marg

(2) T SV

(3) THEE dmr

(4)  SrPprHRo

W, Jed BNl anTRl @ 9RT I B9
f&ar mar or?

>
@lNDlRESULTE

(1) 2015 2) 2013

(3) 2016 4y 2017

Teh YRET AT & FiS IS B &7
(1) =9 &M

(2) e FAR

(3) SR @

4) fRre Bree

Ry T3 HewTa S8t 7= ST 22

(1) < 2) e

(3) HfrBTTE 4 AR
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114,

115.

116.

117.

Where will Indian Science Congress — 2019
be held?

(1) Mumbai 2)
(3) Allahabad )

Jalandhar

Pune

Which of the following Railway Station in
Uttar — Pradesh is renamed as ‘Pt. Deen
Dayal Upadhyay In.’?

(I) Mugalsarai (2)
(3) Faizabad (4)

Muradabad

Itawa

Who among the following prime ministers
of India served two consecutive terms as the
prime minister?

(i)  Guljari Lal Nanda

(ii)  Atal Bihari Vajpayee

(i11)) Manmohan Singh

Choose the correct code —

(1) Only (ii)

(2)  Only (iii)

(3) (i) and (iii)

4) (), (i) & (ii1)

Who were conferred upon with Albany
Medical centre prize in Medicine and
Biomedical Research — 2018?

(1) Haldane and Punnet

(2) James Johnson and Mary Parker

(3) Steve Peter Wagh
Neel Watson

George, and

(4) James Allison, Carl June and Steven

Rosenberg

@lNDlRESULTE
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114

115.

116.

117.
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qReg g B9 (Indian
Congress) — 2019 &l AT BFIT?

() 7= (2) STeRR

(3) geIEET @

SR U B HEY NAd WIH Bl
U, SMeaTe SURAY g AHaRvl fhar
T &7

(1) HiTeTag (2) HYQER

(3) e 4 gerar

ARG & erliferfad yae #4191 # 9 foae
A @ ®U H SAR & el dd
Hrd far?

(i) TR A AaT

(i) ored Rl g

(iii) #=Es Rig

& HT B AT BT —

(1) R Gi)

(2) T (i)

(3) (i) 3R (iii)

(4) (D), (i) 3R (iii)

Science

qYy 2018 BT YAl AfSHA Hex WSS 39

R tre aRed Rud &1 RER

foome foar mar?

(1) @reed g ga &1

(2) o SfEEA g W aER B

(3) W Sifdl, §lex a9 il dfewd
Bl

(4) o eI, Bl S 9 e
NEECUE]
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118. Which one of the following countries 118. fFa T &I MR&T 7 39 fAferaw SfeR
received $ 39 Million for Maritime Security s YERE T D oy Ry
from the U.S.? | &2
(1) Bangladesh (1) diremes
(2) India 2) Rd
(3) Pakistan (3) e
(4) Srilanka | @) i
119. Who is the chairman of NITI Aayog? 119. “f AT & et o 87
(1) Amitabh Kant (1) afAam sid
(2) Narendra Modi (2) = A
(3) Rajiv Kumar (3) g FAR
(4) Dinesh Arora @) e eRrer
120. Consumer Protection Act was enforced in— 120, Su¥IaaT G&v Afafray KINY foam T
(1) 1984 | (1) 1984 #
(2) 1982 (2) 1982 H
(3) 1986 (3) 1986 ¥
4) 1989 @) 1989 ¥
121. According to the Global Liveability 121. g@Mifawe gefornie gfie (EIU) — 2018 &
Ranking — 2018 prepared by Economist T IEH A DI’ B AR Y RIH
Intelligence Unit (EIU), which city stands TR BT 9= 27
first? () faed, sieform
(1) Sydney, Australia ) faw, sifea
(2) Vienna, Austria () Serrw, SR
(3) Damascus, syria @) ST S
(4) Osaka, Japan
122. ‘Agricultural shot’ is associated with — 122. UfideRd v’ fday waftm 8?7
(1) Hockey (1) e
(2) Cricket ()  free
(3) Baseball (3) IwEter

(4) Chess

| '1 inéﬁ}gesw whatsapp - 9352018749
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123. Who has recently been conferred with the

first e — Ratna award?

123,

J‘
%/
Il BTl B Y U § — X [RIOR
fear an?

INDIRESULTE

YOUR SUCCESS PARTHNER

(1) Nandan Nilekani (1) e Hreteol
(2) Vasundhara Raje 2) IGERT o
(3) Sundar Pichai 3) "‘337 s
(4) Vishal Sikka 4) famer Ricsr
124. Consider the following statements about 124, =gl 1€ Il & IR # epeiforfad
Annapurna Rasoi Scheme— FHUAl W R HITY —
(1) © The Scheme aims to provide nutritious (i) AT BT SeY RNl TEl B uiftes
food to urban poor. WIS SUSTE] BT |
(i) Annapurna Rasoi provides breakfast, (ii) m g g Bl AT, SR
lunch and dinner. B WS T I BT Ao Sude
(iii) Annapurna Rasoi offers meal in < 8 T
(iv) Breakfast is available in ¥ 5 at e ¥ P
Annapurna Rasoi. el 2
Which of the above statements are correct? (v) EE T GW‘{UTT B T &
(1) (i), (it), & (iv) R |
T O P w2
@ Q)& av) (1) (i), (i), & (iv)
(3) (i) & (iv) (2) (i) & (iv)
@ ). (i, (i), & (V) G W&w)
) (), (), (i), & (iv)
125. Recently Hima Das won a gold medal. The 125, 3nfl gra &1 % fgwr &/ A %@l uged Sl |
Sports event in which she won was — el amareE e S uad Sffer —
(1)  Asian Games - 2018 (1) TR™T = — 2018
(2) World Athletics championship - 2018 2) T Qerelfead Aftra=fEm — 2018
(3) World Junior Athletics Championship (3) T Gﬂ?ﬂﬁ voraifeay IfRmERY —
-2018 2018
. (4) Commonwealth Games - 2018 (4)  BrTGR TR — 2018

%

02 =
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126. Consider the following statements about
‘Ayushman Bharat Scheme™ -
(i) It is also known as National Health
Protection Mission.
(i) The scheme provides the benefit cover
of 2 Lakh per family per year.
(iii) The Scheme will launch on 25"
September 2018.
Which of the above statements / statements
are incorrect?
(1) only (i)
(2) only (ii)
(3) (i) & (iii)

(4) only (iii)

127. ‘AT W H HIF A AR B -
(1) R wfR
(2) e W
(3) fawet wfer
(4)  Tor ey
128. ‘REmy weg § BT AT GHYE & —
(1) agdfe
(2) Ty
(3) PHHIRY
(4) rERIME
129. ‘afy st @ fAfiT o T8 & —
(1) SPRIAre
Q) IR
(3) 2myEd
4) arf=
130. F=feaRaT 5 5 uyerg 9 AT o @ -
(1) 3
(2) emferd
(3) arfogy
(4) ™
131, "UETRT R IS &1 argar) 87
(1) 4darN
(2) f&xo
(3) AR

[CYIEHIC

>
Qamnlnssuua

YOUR SUCCESS PARTHNER
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#)WoiResuLTE

YEH ARG AT B IR H peifaad

FAl R AR iy —

(i) T8 T WReY WRew e & w9
F o S Tt R

(i) AoET Uy uRaR wied 2 @wm @
Nl YT Bl 8 |

(i) AT 25 R 2018 @ OURY
BT |

ST H W DA/ DI BT I &7

(1) ®ae (i)

(2) &ad (i)
(3) (i) 3R (iii)
(4) dad (iii)
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132.

133.

134.

135.

136.

13%.

138,

i & faem @ — | C‘:?/a‘

(1) Sy

) ffaw

(3) anfaw

(4) fawrfay
YU—Se IR IH HT Wl 3 § —

(1) Pd — TR

(2) S — HAA

(3) TWeR — HWe

(4) YA — TR

wdq @ A qerdl @ A — & forg |rie T © -
(1) orfer

(2) aifRcg®

(3) SUED

(4) el :
fr=fofaa # 9 gg o= Biftd -

(1) e

(2) SFIEER

(3) Sourde

(4) arHfD
frforRaa & & erge 9T Bifed —

(1) U BfAdT 3F® H1dl BT UdHe Bl © |
(2) g 91d e H fHAT BT dopra T B |
(3) ) A B IR § o TAR g |
(@) 9 e a9 B IAD! UHET B |

AT T R PRIy W Sare’ @ e W Gefda el 8 —
(1) ST IR PIddred B SIS

(2) MY BR FE BT AN

(3) T 9 axell Bl

(4) U A AR R AE SR

TR’ B U SN BT PI—WT U S 8¢
(1) MINUTES

INDIRESULTE
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(3) MOTION
(4) MEMO
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Note (0 139 to 141) : Identify the tense in the sentences given below:

@

139. We have finished our breakfast-
(1) Present Simple
(2) Present Perfect
(3) Past simple
(4) Past Perfect
140. Ibought two cars yesterday-
(1) Present Perfect
(2) Past Perfect
(3) Past simple
(4) Past continuous
141. I have been waiting for you for two hours-
(1) Present continuous
(2) Present perfect
(3) Present Perfect Continuous
(4) Past Continuous
142. Note: Mark the passive voice which is correct:
I Shall help you-
(1)  You will helped by me.
(2)  You shall help by me.
(3) Ishall be helped by you.
(4) You will be helped by me.
Note (O 143 to 145) : Fill in the blanks with the most appropriate Determiner:
143. Thavelost............... toys I had-
(1) the few
(2) a
(3) any
(4) much
144. My friend has become ................ R.A.S.
1) a indiresult.in whatsapp - 9352018749
(2) an
(3) the

zero article
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(1) Ther

(2) his
(3) a
(4) the

Note (0 146 to 147) : Fill in the blanks with the most appropriate preposition:

146. Theball fell ................. the well-
(1) into
(2) on
(3) at
(4) over
147. What is the time ............... your watch?
(1) in
(2) into
(3) by
(4) at
Note (Q 148 to 149) : Give the synonym of the words given below:
148. Glide-
(1) glad
(2) gulp
(3) shave
(4) float
149. Fling-
(1) throw

(2) setright
(3) raise
4) slip
150. Note: Give the Antonym of the given word below:
Soothe- indiresult.in whatsapp - 9352018749
(1) Flow
(2) relax
(3) release

aggravate
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YOUR SUCCESS PARTHNER

02 & 310f32





